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OF& TH &t
QWS Ho(STEMUCHE /T - 2 YS)
olgrel Fdl2el tel &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 7,000 12,000 A5,000
01 A& HI 7,000 12,000 A5,000
Oglge Has=A4 H3
7,000,000&  10H 4 7,000
405 XHoHF S HI 12,110 18,500 A 6,390
01 HatH ESFH S 12,110 18,500 A 6,390
OAE DIgttioa EI2L(=FEHIIWA) 4,980
—AREXHY 200,000& * 42X 800
— AbSITH 300,000& * 1X 300
— ZO0IA Xt 40,000& = 35% 1,400
— A THHIOI 2 220,000& * 1X 220
— &0 250,000& * 2% 500
— 3019 Xt 280,000& = 4X 1,120
— IR 320,000& * 2= 640
OAE Slg2ioa 228 M&Il s 2 5,930
= 2,500,000& =« 2CH 5,000
—HE&ZI 150,000& * 34 450
— AEHEIN(22XE) 120,000 * 404 480
Og=8 222 X & 400,0008 » 3= 1,200
()AL Sty Sd=AH B3 7,140 37,000 A 29,860
= 2,142
< 1,499
Al 3,499
405 Xt&tFE SHI 7,140 37,000 229,860
= 2,142
< 1,499
Al 3,499
01 et EFH S 7,140 37,000 A 29,860
O sty $=¢ 25 42,0008 » 17004 7,140
= 2,142
= 1,499
Al 3,499
(S)LA st g=H FoEZ 139,020 0 139,020
= 41,706
Al 97,314
405 XHoHF S HI 139,020 0 139,020
< 41,706
Al 97,314
01 et ESFH S 139,020 0 139,020
Ozt &y &= 2 42,0008 * 3,31004 139,020
= 41,706
Al 97,314
()L LALEAE AL 40| WAl 16,000 0 16,000
= 4,800




AN ATt
M Qlge 2 (ZSENMLOE/THHETH - 212 9)
E plgel Fol2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,360
Al 7,840
201 24l 16,000 0 16,000
= 4,800
< 3,360
Al 7,840
02 =224l 16,000 0 16,000
OUSIALAL L59s 240 DA
4,000,000& * 4042 16,000
= 4,800
< 3,360
Al 7,840
g2z 388,442 456,986 A 68,544
< 15,000
Al 373,442
M=22E 2l 263,942 231,986 31,956
301 gt L= 263,942 231,986 31,956
0B A =R RAB A4S 263,942 231,986 31,956
OANZ =R QIAH(HYEX) 102,742
- == 366,229 * 15H » 123 65,922
— SA| 6,0002 = 159 » 21 * 123 22,680
— WSl 3,000& = 159 » 21 » 123 11,340
— =g (dt=s, =55)
280,000& = 1& = 10 2,800
OMBIES2RP QAAHHI(AS=XNAE2SEXNES
) 151,200
— SA| 6,0002 * 100 * 21 * 123 151,200
OMo=E3 10,000,000 * 14 10,000
()X =obl =X & 75,000 75,000 0
< 15,000
Al 60,000
308 XtXIEHH SOl A 75,000 75,000 0
< 15,000
Al 60,000
Qb ZELdXNJIL4ED 75,000 75,000 0
oudlz =4 X& 75,000,000& * 14 75,000
= 15,000
Al 60,000
N<goldl =X & 49,500 150,000 A 100,500
308 A EHHSOIA 49,500 0 49,500
QobzZzs&8NdIdadEx 49,500 0 49,500
OFEYULAXRTEE 2ERMI|(HEED )P L
495,000& = 100CH 49,500
CCTV Ze(SSEMYUHA/THL LI - 2l <) 2,278,710 2,223,926 54,784




2N
X ZH -
L= B

el

oF & TH
CCTV Ze (SSEMUHE/THLT - 21ghe])

CCTV 2tel

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CCTV 2tel 1,599,410 1,626,226 N26,816
CCTV S HdE 29 1,599,410 1,626,226 226,816
101 @124l 708,000 618,000 90,000
04 JIZHHZ2Z2XNSE+ 708,000 618,000 90,000
OJZHZ2E2X (Al 12, nsH 12/ASX
Y 2EN BEEE ZE) 29,500,000 * 24 708,000
201 Let24dy] 639,410 496,526 142,884
01 At 22/l 16,160 14,300 1,860
OZHMHE 22l 900,000& « 12& 10,800
OLA2 =4t 3,600
— =AM EH 200,000& = 53] » 104 1,000
—PC =cltl 100,000& = 13| = 20CH 2,000
— JIEt =2t 50,000& = 123 600
OSEAMAAY RANEx EHH|
1,100,000& * 14 1,100
OSg2HEH |4 AHEZ 15,0008 * 128 180
Osg2MdH E=J &X=
40,000& = 12& 480
02 2324l 623,250 482,226 141,024
OCCTV S X E= 121,400
—248HE L ol 25 300,000& = 164CH 49,200
—JIet S84 CCTV 300,000& = 460H 13,800
— &= SUIXE CCTV 400,000& = 1460H 58,400
OsldAIE = 335,400
— dIH 3,200,000& = 13l » 123 38,400
—2NE 100,000 » 483 & » 123 57,600
— 2S5 (345 H)
100,000& * 3434 » 123 40,800
— XFRQIAL CCTV  100,000& = 872l « 123 104,400
— A3 100,000& = 264 = 7& 18,200
—S8s JEZH e
80,000& = 503l & = 128 48,000
~gS 2N 4
80,000& = 5034 * 78 28,000
OFSPIPN=3=4 65,560
— dH 1,500,000& * 12& 18,000
—2AME 20,0003 = 1834 = 12& 43,920
— &5 20,000 = 26004 = 78 3,640
OZHMAAE KX E=H 100,890
—HW(Z2HAH, GIS/Y AH S)
399,762,720@ * 7/100 * 1.1 30,782
—UEST BH(AEFE L 2o EH|)
88,584,220 * 7/100 * 1.1 6,821




2N
X XH
L=}

el

oF & TH

D CCTV 22 (SSEMYLHE/THHY T - 21ghel)

CCTV 2tel

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—Za/3E 318,403,000& * 7/100 * 1.1 24,518
— 2HEYI 113,385,470& * 7/100 * 1.1 8,731
—S/NEE2H, MEEH S)
224,226,900& = 12/100 * 1.1 29,598
— s3I RAE 220,000& * 23| 440
207 A O] 32,000 35,000 A 3,000
02 & AR I 32,000 35,000 A 3,000
OssaMB 2246 25
32,000,000& * 14 32,000
405 TtabFH S 220,000 476,700 A 256,700
01 AL EZFH S 220,000 476,700 A 256,700
OSSBHAAY SSHMY Z4
30,000,000& * 14 30,000
OMETEX & 110,000,000& * 14 110,000
OHYIE 728 AYHY 715
30,000,000& * 1A 30,000
OREIE 72U LK BAAAY 25
50,000,000& = 14 50,000
HEWY ¥ XItMHIA 679,300 597,700 81,600
AAESUHASHZ S K2 114,300 113,700 600
301 et A= 106,460 106,460 0
04 HtSLHUHAH XA 106,460 106,460 0
OXNs&di OrAHl XI&
3,0002 * 68H = 365¢ 74,460
OXNsddl 22= +2 50,000& = 300&H 15,000
OXtsgdxzA ety XA
100,000& = 17JHCH = 5012 8,500
OlsgddHEs 7¢ 500,000& = 17JHCH 8,500
307 eIzl & 7,840 7,240 600
04 QIZFHALAIH E = 7,840 7,240 600
OXsLHASEl Sn=EHoed 2 IIFS0sS
thal 7,000,000& * 13 = 80/100 5,600
OJI=ZMN &8 & SnIA0Y BHA
2,800,000& * 13 = 80/100 2,240
HAEMY &= 565,000 484,000 81,000
401 Al HI R 201 I 565,000 484,000 81,000
01 A& HI 565,000 484,000 81,000
OF2&=2 ¢YE CCTVAEXI 445,000
— P s oAZE CCTV WA
25,000,000& * 5CH 125,000
— s AAE CCTV &7 &X
25,000,000 * 1204 300,000
— g4 CCTV &l & Xl 10,000,000 = 2CH 20,000
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S QHETH LD

FH: CCTV 22l (SSEMLAE /TS - 21e9])
Sl BHOY L AHHIA (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSHsS DISYHE CCTV AREX
3,000,000 * 40CH 120,000
HY2FZH (S TN ) (J1EH/DJIEL) 86,860 85,780 1,080
Jl=&l 86,860 85,780 1,080
Jl234 86,860 85,780 1,080
201 2et24d] 20,560 19,480 1,080
01 At 2teltl 20,560 19,480 1,080
O=AERX ¢ 15,000& = 15%FA « 123 2,700
OS20AH| 7,000& * 64l » 15H 123 7,560
Ogtx=x=g 100,000& » 12& 1,200
OA7E EAFLLI 50,000& = 12& 600
O4LAa2 =4&H| 7,600
—SAII(aE") 22l 500,000& =« 1CH 500
— T2y =2 100,000& = 4CH = 50/100 200
— =AM EYH 200,000& = 53 ~ 104 1,000
— ZEE(S%) E4 200,0008 * 53] * 404 4,000
— D2 (&Ze) E4H  200,000& * 53 = 104 1,000
—PC =2l 100,000& = 15CH = 20/100 300
— JIEt==2lHl 50,000& = 12& 600
OJIEtAIR 8 F I 5,000& = 159 = 12& 900
202 odl 62,100 62,100 0
01 = LH o4 1l 62,100 62,100 0
Oz ol 20,000& = 15% » 12 » 123 43,200
O22 ol 90,000& = 159 = 14 18,900
203 R =& 3,000 3,000 0
04 FN2ELSZ=TH| 3,000 3,000 0
ORAN2EYE=AHI 250,000& = 12& 3,000
204 MR FH| 1,200 1,200 0
01 MM AR I 1,200 1,200 0
ORI DL s 2AY| (SHF LD E)
100,000 * 123 1,200
MPES(HEMHD ) (SSEMLHE /T - eletel) 461,975 418,794 43,181
HEHHK = 461,975 418,794 43,181
LHEHeH X = 461,975 418,794 43,181
702 JISEES 461,975 418,794 43,181
0oI=ds= 461,975 418,794 43,181
OMgzelz dss (MY & e II=28
H67Z) 138,592,339,510& * 1/3 = 1/100 461,975




